5T TH1021
_ﬂgmmEME GENERAL APPLICATION (WITH OX)

EX-H-POT | -

$Ds

=@ |

OY—JDHBARP.2ETEILEL,
See page 2 for explanation of icons.

Bfir:mm  Unit:mm

[0
T
T RAIN RN ORI EESE HEEE | B | 2R (RUR|ETR [0k BY i?; | EE | B Dl N 2Ex 1 | &1t | 2R | BUR|ETR vk B A (| 52 |ehs
ﬂ; T =0/ A NOMIR )R RS2l Grade |TAPLnt| @c | L | 2 | 2n | Ds |Fiutes|%ere | Stock|weight| (Yen) |  WEBIINTOMURNIEERRETEN Grade T4PLt| 2c | L | & | 2n | Ds |Futes| M| stock|Weight| (Yen)
;Ikg 16698|M 1.4x03 34 9| -3 | & | 3 2620 |[16743|M12 X1.5 |STO+1|OH4 8229 |48 | 85 = 44 3270
) 16700|M 1.7X0.35 36|11 -13 | & | 3/ 2370 |16745 STD |OH4 L= | 44| 2920
ji 16702 2 x04 |°0| M| [aove | - 3|, [H] 310 [16746|"2 *'Bspajons| | %22 [ 8 =] [ w[azm
/£§E 16704 |M 2.3x04 42113 - |3 | & | B 3 1,740 [16747|M12 X1 |STD|OH3 8229 |48 | 85 L= | 45| 3630
%3 16706|M 25Xx045 44114 | - | 3 | & | 4 1520 |16749|M14 x2 |STD|0OH4 88|30 | 48 |105 L= | 70| 4,050
16708|M 2.6 X0.45|STD|0OH2 44114 | - | 3 g 4] 1,340/ |16751|M14 X15 |STD|OH3 88(30 | 48 [105 L= 70| 4050
16710 M3 X05 sl 11119 4 | B | 5 1,030 [16755|M16 x2 |STD|OH4 95|32 | 52 [125 | = | 101] 5440
9_| 16711 " |STD+1|OH3 ] 5 1,050] [16757|M16 X1.5 |STD|OH3 95|32 | 52 [125 L= 100 5440
e 16712 STD |OH2 ] 5 1,190 [16761|M18 X25 100| 37 | 55 |14 = 121] 7460
.5 X 0. = —
j’”’ 16713 i §TD+1|OH3 SR ] . 5 1,190, |16763|M18 X15 100| 37 | 55 |14 L= | 121] 7460
16714 STD |OH2 | & | 8 979 [16767|M20 Xx25 105/ 37 | 58 |15 L= 150 9,650
16715 94wl ST041|OH3 el | & | 8 1,100 |16769|M20 X15 105| 37 | 58 |15 4 L= | 151] 9,650
» [16718 STD |OH2 | B | 10) 1010, {16773 |M22 X25 115/ 38 | 63 |17 |- | 204|12,500
ZI;% 16719 LTt ST0+1|OH3| 5P 2l e e e | & | 10 1,130, |16775|M22 X15 S 115/ 38 | 63 |17 L= D 204/12,500
> # 16722 ME X1 STD |OH2 6219291 6 | & | 12/ 1,080] |16779|M24 X3 120|145 | 66 |19 | = | 260|15,700
|\5 16723 §TD+1 | OH3 g 13) 1,200, |16781|M24 X15 120/ 45 | 66 |19 - 264/15,700
= LB | -
x -_
9@ 16728 M8 X125 STD |OH3 70l20 37| 62 3| F | 19] 1590, |[16785|M27 X3 13045 | 71 |20 | = | 332(22,300
v 16729 ST041 |OH4 | & | B 19/ 1,760, |16787|M27 X15 13045 | 71 |20 L= | 343|22,300
—f% [16730|M 8 x1 |STD|OH2 70|22 | 37| 62 | B | 19 1,960, {16791 |M30 X35 |STD|OH5 135/48 | 74 |23 |- | 435/28,200
@ 116734 W10 X15 STD |OH3 75104 la1| 7 =] 27| 2000 |[16793|M30 X1.5 |STD|OH4 135/48 | 74 |23 L= | 452|28,200
2 [16735 ™ |STDH |OH4 | = | 27| 2240 |16851|M33 X35 |STD|OH5 145| 51 | 77 |25 L= 563|32,500
|‘U) 16736 W10 X125 STD |OH3 75004 a1 | 7 | = | 28| 2,000 |16853|M33 X1.5 |STD|OH4 110| 37 | 47 |25 = 424132500
x 16737 ""|STDH | OH4 |~ | 28| 2240 |16855|M36 X4 |STD|OH5 155| 57 | 82 |28 | = | 717(38,000
16738|M10 X1 |STD|OH3 75124 141 |7 | = | 28| 2490| |16857|M36 X1.5 |STD|OH4 110/ 39 | 49 |28 4= 510/38,000
16739 W2 X175 STD |0H4 a0l 29 | 48| 85 | = | 43 2,780| |16859|M42 Xx45 |STD|OH5 17560 | 93 |32 L= | 1075|53,100
16740 """ |STD+1 | OH5 ' - 43| 3110/ |[16861|M42 X1.5 |STD|OH3 120 39 | 49 |32 - 750/53,100
16742|M12 X1.5 |STD|OH3 8229 |48 | 85 - | D| 432920
BREHLEIRE - v VEARRTE 0k KIZP.890%E BT S, Il Please see page 890 for length of extemal centre and shank square length £k and width K.
1L¥EER 2RO UHENERO Sy THEEETY. (P.7063H8) 1. The recommended TAP Limit corresponds to JIS class 2 internal thread
2. 8y TRERDRUBEERIETIEDTREHIEEA, » %fgcli_arqigee pa%e 706)t thread limit for the internal thread after tapoi
1[5 o— TR N . imit does not guarantee thread limit for the internal thread after tapping.
3. NL#L, N—A MIPBGEEFWT AL 3. Cutting fluid and Paste : Please refer to P.868.
(e o e o ATIVA 99541 B | o (PIVS|TIVE V2000 BREE| F Y| NiE | Bk | ST
i e e @ (L8 B ARy W RB | gy | B \mnacumisewn B9 | 6% | B 51| 5
Low |Medium| High | Alloy Hardened Steel Stainless| Tool | Cast | Cast |Ductile | Copper | Brass | Brass | Bronze [Aluminum/{AlminumMagnesum| Zinc (Titanium| Nickel | Thermo | Thermo
Carbon | Carbon | Carbon | Steel Steel | Steel | Steel | Iron | Cast Casting Rolled | Alloy | Alloy | Alloy | Alloy | Alloy |Setting | Plastic
Steel | Steel | Steel Iron Casting | Casting | Casting Plastic
C |C0.25%| C 25~45|45~55|50~60
035% ~0.45% 045% ~ M | rc. | FRG- | HAG | SUS | SKD | SC | FC | FCD | Cu | Bs | BC | PB | AL |ACADC| MC | ZDC
©| 0|0 |0 @) O

A.B.C.D=1R#%E A.B.C.D=Standard stock item.
568 | O=tEfliEEER [I=Stocked by specific distributors. Contact us for price & availability.






